Environmental Product Declaration

a;iE.F |:||:|}=l=I = A
%**%*j}l 1ISO14025%

&)BAOWU £ K & i

o a8 #ELfTILEPDF A www.cisa-epd.com

EPD;¥i4S  CISA-EPD-BWZY-20220032 \
EPD#F B & ZERXFE/\Wy W
X B B 2023-01-11

HHEB E  2025-12-30 iMexiTWEPDES




&) BAOWU X R %3 <&

EkTIWEPDES

B3 |CONTENTS

] =ars 01 / wEHH 04
: 1000kgE#5#)
| P RESBBFITN IR
2 AFER 01 1000Kg #RHE#)
5 BHEE AP I ENHREZ TN IETR
: 1000kg £ #E 45
o FRE SRS
3 FmiER 02 1000kg ZE4EH)
@R FNEE T : FENERERMLERER
: HRMEFNEMESBERBR
ERTER 02 s
4 | 8 =tewmisin 06
I 2nER 2
BRMIRR
P apiIbets)
R O wien 06
5 «aamrmEs 03 | o
6 zE=8 04 10 zz=x 06

KIS mBIRLE



&) BAOWU £ it % B <&

MEL{TILEPDES
BV e

MEKITWEPDESR
www.cisa-epd.com

FaEMm

FEmRAPZEHINI(PCR)  PCR 2022:02 XA IEAT A UNCPC 141 GB/T 20565-2022 FRZA1.0

PCREZE BAZERS HBf8 EPD@chinaisa.org.cn
Mg ERATEEEA
TR IRy (BRE. BUE. BHT)

FEMHRHXERER, FECEDERETEAMNNBER . FEREHHHFE

#21S014025: 20063y 7= BAF0 54 8998 37 3631F 7 EPDYHIE S B EITEN AR

WAEHH hEREM REAEERAT CCS AUER S
T D EAEITEERATERS

S :CNAS C005-P

#ES MekfTI EPD F4&

GPIFEXHEPDEMHNNRHRER, BSMIKIEE = VS

EPDIFAENEPDRABUE—NABEN. REMNS., BTRE—TmiPLEREARRFEANEPDIRERET LMK,

By 2aes /[

)\ Wy WERFEERAS (B AWy ) REPEFRNKEALNSERICNKEAT, T2021F48298 EF =ML,
I\ SEBEETHBSEATHEFEATFAK, WEIRAEFEY W, TEWSHT F=REMENE, 7 WRE, T77@MNI.
HE. UREH. FREERT A, KET . XAV, aka. §Eh. SERREMT atla. /R WEDTITEXEK, 7l
W TREEREEREMNE, RETEREATILNG, HEAZSRENKESE, BEFURY BRRFAFANZOWS, F
BEFEZESRBRBNGANA, BR "WinkE, KRR, S8 NEBIEN "=sSWmL" RBKE, #Hh/\WTVsHie
KR, BEARATERIL. dTRBUBRKEETS NN FRRHNENS,

01



&) BAOWU £ K& B

Y ===/

<

EkTIWEPDES

1. BERERET 2%2866.97%, %Ms. —SAESIER. BERMEEREY, KBHNM/\RQSBTEF MR

B RIS BRE

2. EMZBEBT BT 25%2864.63%; SHBURS.

WERBLRIR SRR

“RWERREER. EERNMRTKEY, tEAEMNRKRFAER

3. BB BN EREE59.52%; HE/\WRELEHNRRENR,

V2, Y,

OEFIZREE
4
%
ik —
R R
4
]
ik —
R-3u08
4
0
ik —
R R
‘o B RMARIA
TR ERT N,
‘o RFIEH

KENIERERFEENEOH e RIEET .

zmE (M)

Q
:Oo

R \

A4 oo 500
S -/ \R
=

AR

BB TR,

KEEH (RE)

MR 555700 -

730.5 - -
=2 387438.579 200 ; ; ;
# 3 4733.33 200 _ } }
R4 389606.09 570 . _ }
5 1754380.28 90

02



E)BAOWU £ K& iR <&

mEkiTIEPDFS
BY sommenies [

FEAEAI: 1000kg TFeM AL /65.04% M S k4 7= &
BHEARME: “KIIEIKRT OEFEIRESUERN/ R WA 2 T EEXENYHEE (2021F)
BiEE: "EEIAFPXT I8 =HIESI B TjimulCA 1.0, ecoinvent 3.85U4EE

S HARENRYE: RARLCAZ=PrO

LCIARRER T A% : CML V4.8 F1 IPCC2021

RAE:

MERT™ il

il TR R SR

T H#bFN == BRI
N o 1) 2K
NERSE KATMIRSGE RETMIRSG bet) 2) HtH=mE
3) BU E=E
AT =1 KB

1) F Uk
RERRS S TR HERG 2) B #RA

HREER A
RINEEF A

BIE
1) BET MM
— 2) BHFIA
RS, Kk, LR = BRER 2L B

FERE  MRKRR MWTKER TER ZEER 1) BEEER
2) #ECMmI

RF{BRER: NG EFEAE, 2385, & 1R, AR BT REBT 7~ n, SERBEHERSRZERF, RIS
BTRESAHEIFMESKE.

AAANNERABENE: THIR

BEER:

(1) BERN: RNAERASLIE, EREMEEASIIY, BEMERENTREASER 1%90NRBEBATTRE;, K5, K
AREESEBINGI L, NFEREZDHRESE 1 %0 —REEREFM IR, BES5 BHEMEHE. STFIRE. | XK
ARRETREHERNHERA TR, REENAERTESEEYR, TANESEENMRIYESNESTERT,; RATD
WRENYHNRE, FMEBURE. sEERREHMEIS%.

(2) HBREN: RBIFBFEPCRAMNHEERMALBIEETIRYD AR IS N FIRHRES XEFIEEXNRELIE,
LU RS, MITEMNAANHENFIRHITWERXHBEHIE, NEAERYESIERRTHER, NaRaEE. ULEE
BYMESEE, WEEXBRAY BL, RBRETRNIGAE, BINERBEATRNOTERTR,

03



&) BAOWU £ K& B

By zs=u [

‘@ KBNS HK I EN65.04%, HENKBEMNAS L TER:

BB TR BRI REDE(%)

<

EkTIWEPDES

| cas number I

EX=3 65.04 7439-89-6
‘oM RINAIERER:
ME/NTFH2008 (KIENTF
. % 75.4
0.074mmBIRE4EL)
Xr
7, KLY
‘@ 1000kg &k ¥& ¥ 7= @ & &5 A A IR AN fS 4
(i i HEHERHIE ait
wAEER kg CO,eq. 7.003E+01 1.525E+01 8.527E+01
DIRTEEH YR kg CO,eq. 1.516E-01 0.000E+00 1.516E-01
(GWP100) TR AN Lt AR R kg CO,eq. 3.075E-02 0.000E+00 3.075E-02
ait kg CO,eq. 7.021E+01 1.525E+01 8.546E+01
B i& 11 (AP) kg SO.eq. 3.267E-01 3.394E-02 3.607E-01
EEHRNESI(EP) kg PO, eq. 2.420E-01 1.851E-03 2.438E-01
SRERSERNKEI(POCP) kg C,H.eq. 1.406E-02 1.073E-03 1.513E-02
FEEMEREBRIERES (ADP) - T¥ITR kg Sb eq. 4.670E-03 3.870E-05 4.708E-03
FEEMEFEFEIBE SN (ADP) - AR MJ, ERE 1.006E+03 1.568E+02 1163E+03
EREREZHEES (ODP) kgCFC11eq. 3.200E-06 0.000E+00 3.200E-06

04



&) BAOWU X R %3 <&

EkTIWEPDES

‘® 1000kg &K ¥HE M E F P U BB IR I IFMNER

“as N

o o
cwEeo) :tiﬂz%]ﬁ*uii&ﬁﬁi@aﬁ@ kz cojeZ: 7:580E—02

Bt kg CO»eq. 4.159E+01
BEETI(AP) Kg S0,eq. 1.596E-01
EEFNEEP) kg PO43-eq. 4.023E-01
XNRBRELEME(POCP) kg CoHqeq. 5.898E-03
EEMRRRIFFEBES (ADP) - TR kg Sb eq. -1.795E-04
FEEMERFREIBES (ADP) - (LAERK M, BHE 7.039E+02
TREREZHEERSN (ODP) kgCFC11eq. 0.000E+00

‘® 1000kg k543 R IRE A B L IE 4R

B il B RIS &it
RESE-TIE BiEgEERE MJ, A 1.312E+02 0.000E+00 1.312E+02
HEEE RERMR M), BRE 0.000E+00 0.000E+00 0.000E+00
ait M), EHRE 1.312E+02 0.000E+00 1.312E+02
— IR BETR-AT] B{EREERA M, BE#HRE 1.069E+03 1.663E+02 1.235E+03
BERER BEEM R M), ERE 0.000E+00 0.000E+00 0.000E+00
‘it M), EHE 1.069E+03 1.663E+02 1.235E+03
T4 TR M), MERiE 0.000E+00 0.000E+00 0.000E+00
AROTBE T IRE MJ, ERE 0.000E+00 0.000E+00 0.000E+00
HkiEE m3 3.345E-01 6.658E+02 6.661E+02

‘® 1000kg sk ¥ EHIEHR IR F ML B ISR

ERERERY kg 1.509E-02
TREEREFY kg 2.180E+03
T ER R FY kg 0.000E+00

‘oHEBMEFNEMESEBERBR
HEKEZY mg/L 0

ElRGEFIHE % 0.039
05




&)BAOWU £ K & iF

s, G

x
o, BIDEE)
‘o=

BXREENITE, BESENETIEPDF A HIPCRAIGPI,

SXRAAREBIPCRMGPIE, AEPDAHIETES HMFaNEPDEIEAEF M,

o, B

- WEKITWEPDIFEHY (EFEBRAMN (GPI) ) 1.0M
- WEATWEPDIESR (FRFPEFMN (PCR) ) 2022:02 RAFIM T &Y & 1.05R

<©

MELITIWEPDTES

» IS0 14025:2006 Environmental labels and declarations — Type lll environmental declarations — Principles and procedures

+ 1S014040:2006+A1:2020 Environmental management — Life cycle assessment — Principles and framework

+ 1SO14044:2006+A1:2018+A2:2020 Environmental management — Life cycle assessment — requirements and guidelines

- 1S014067:2018 Greenhouse gases - Carbon footprint of products - Requirements and guidelines for quantification

06



i) | WWEATWEPDFEIRE | FERIFER
BWEFmEERIER. FaIPiReg.

GWP 100 B5.UBkgCO= -eq/t@’!?i‘:'ﬁ-ﬂ'{ REEEMMILEIFSFEH

<

iNexiTIWEPDIS
www.cCisa-epd.com
BR55#44%:021-96169



